[image: image1.jpg]An advanced instrument is designed for cars to avoid traffic acident. The following four
vaiables (collected through sensors) in Table 1 are involved.
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Speed ©) Low Fast

Distance o frontcar @) | Small Big

Road condition (®) Dry Stithery

Vishility @) Bl Good
Table 1.

In ordr to avoid car collision with the front car, this instrureent vwill lert to wan the criver
when the following conditions oceur.

(s) Speedis fast and distance s small,
() Speedis fost and distance s big and vishlity i bad.
(c) Speedis o and distance s srall and road & slithery.
(d) Speedis o and distance s big and visility is bad

Design  Logic Ciuitwith 4 inpats (5, D, R, ¥) aad an output. The ontput vl e tumed ON
(OUTPUT=1) 0 slrt to wamth cver. Drw you ruth bl ininating ll the cases of nputs
and outputs
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